PARTS REQUIRED — C-HR SATELLITE NAVIGATION
PZQ60-00341 : SATELLITE NAVIGATION KIT

Description Part No. QTY
Head Unit PZQ60-00345 1
Bolts (M5x8) - 8
Cable ties - 14
GPS Antenna PZQ60-00260 1
GPS Antenna earth plate - 1
Owner's Manual PZQ60-00346 1

Description Part No. Qry
Patch Harness PZQ60-00350 1

PZQ60-00230 : PATCH HARNESS

Description Part No. QTY
Patch Harness PZQ60-00230 1

C-HR | Dec '16 Onwards Issue: 2.0 | Date: July 2018 | Page 1 of 10



1. PARTS REMOVAL - C-HR SATELLITE NAVIGATION

Remove the Audio Facia Panel.

Cli 9 Audio facia panel
/\CAUTION | Ips %

¢ Remove negative terminal of battery before
proceeding with installation.

¢ When removing panels, take note of the
location of clips as shown in diagrams.

o Unless otherwise instructed, have all
temporarily removed parts stored in a safe
location where no damage can occur.

Remove the Blanking Plate by
removing the 4 bolts. Remove the
Audio Side Brackets from the
Blanking Plate, and discard the
Blanking Plate.

U
|
w)
=
]
ur

1——\_\‘
' W
e

® ©

® ©

® ©

@ ©

A——@?ﬁ‘
AV

£ i e

Q.
I
®
©
@
®
E_‘-:JJ
J

NE

=
e

(@)
o}
T

‘Jr

S O

Bolts X4 =5 /A\ Blanking Plate

s
=

C-HR | Dec 16 Onwards Issue: 2.0 | Date: July 2018 | Page 2 of 10



2. GPS ANTENNA INSTALLATION - C-HR SATELLITE NAVIGATION

-

Peel the earth plate sticker, before
installing the GPS antenna on to the
earth plate.

o Prior to installing the GPS Antenna Earth
Plate, ensure that the surface of the Earth
Plate has been cleaned using an alcohol
based cleaner.

o To peel the sticker from the Earth Plate,
slice thinly the sticker label side of the Earth
Plate as shown then peel the cutting part of
the Earth Plate Sticker.

Knife

Peel the sticker

T~

Cutting line

-
J

Earth plate
(sticker label side)

Install the GPS Antenna on to the
Earth Plate as shown.

GPS antenna

Earth plate

Install the GPS antenna with the Earth
Plate on the flat surface behind the
Air Vent Duct as shown.

Cable tie any excess wire.

C-HR | Dec 16 Onwards

Issue: 2.0 | Date: July 2018 | Page 3 of 10



3. HEAD UNIT INSTALLATION - C-HR SATELLITE NAVIGATION

Attach brackets to Head Unit as
shown, using the M5x8 Bolts
provided.

/\CAUTION

DO NOT USE SELF-TAPPING SCREWS!

o Using self-tapping screws on the Head Unit
will damage internal parts of the unit and will
render the Head Unit inoperable or un-
repairable.

M5 Bolts x 4

M5 Bolts x 4

Head Unit

bracket
(LHS)

Locate the vehicle connectors as
shown in the diagram.

C-HR | Dec 16 Onwards

-'6 pin male

» connector

Radio anfenna 4 pin male" { &
(HF connector) = connector /;

connector

28 pin male
connector

Issue: 2.0 | Date: July 2018 | Page 4 of 10




3. HEAD UNIT INSTALLATION - C-HR SATELLITE NAVIGATION

| step3. |

Connect the connectors to the Head Unit as shown in the diagram below.

Head Unit Connection Schematic Diagram

Head unit
Not used Not used Wzé@
Vi J
B2 e '.I

PZQ60-00230

patch harness

PZQ60-00350
patch harness
=== Not
used |
Vehicle Harness:
No. Description Connector
1 Main connector 10 pin male
2 Rear speakers connector 6 pin male
3 Steering switch, speed and reverse signal connector 28 pin male
4 Rear camera connector 4 pin male
5 | Radio antenna -
Patch Harness:
No. Description Connector
6 | Microphone connector 8 pin male
7 | Steering switch, speed and reverse signal connector 28 pin male
8 Rear camera connector 24 pin male
9 GPS antenna -

C-HR | Dec 16 Onwards Issue: 2.0 | Date: July 2018 | Page 5 of 10



4. RE-INSTALLATION - C-HR SATELLITE NAVIGATION

Re-install all temporary removed parts. Ensure that all panels are correctly aligned and that no
gaps are present.

Reconnect the battery.
Note: When re-fitting battery post terminal clamp, torque to be between 2.9 — 7.8 Nm.

Check that all switches function correctly as per vehicle specifications. Check that the audio
controls of the steering wheel switches function correctly.

Note: The DCC may need to be fitted to vehicle in order to check operation of audio.
If so, please remember to remove DCC fuse (30A) after check is complete.

.

Place the Owner’'s Manual inside the Glove Box.

C-HR | Dec '16 Onwards Issue: 2.0 | Date: July 2018 | Page 6 of 10



5. SYSTEM CHECK - C-HR SATELLITE NAVIGATION
Turn the key to IG ON, and perform
the following system checks.

Rear Camera Display Check :
Shift the gear to REVERSE and check
the audio display screen.
e If the audio screen shows the rear
view: OK
e If the audio screen does not
change: NG. Check the
connection of connectors 3, 7, 4,
and 8 of the Head Unit Schematic

Diagram.
NE[D jalpw
SCROLL VoL

s [T |

Microphone connection check: A aPes

" " A HOME

Press "Phone” button. = T .

to check
‘ J

Microphone connected press "No~ and =

go to next check items Do)™
IDAB: Stationlist @

If the audio screen shows

“There are no telephones paired. Add
one now?”

Press NO
Go to next check item (Step 3)

C-HR | Dec 16 Onwards Issue: 2.0 | Date: July 2018 | Page 7 of 10



5. SYSTEM CHECK - C-HR SATELLITE NAVIGATION

If the audio screen shows
“Microphone not connected”

Check the connection of connectors
6 of the Head Unit Schematic
Diagram and repeat the checks.

Microphone not connected need to
connect the microphone connector

| step 3. |
Drive the vehicle for a few hundred
meters to an outdoors area, where

there will be no interference to the

GPS signal (i.e. not inside a building
or any other roof structure).

Stop the vehicle.
Enter Service Menu:

Enter the Service Menu screen by
turning the headlight illumination on
and off three times, whilst pressing
and holding down the AUDIO button.

C-HR | Dec '16 Onwards Issue: 2.0 | Date: July 2018 | Page 8 of 10



5. SYSTEM CHECK - C-HR SATELLITE NAVIGATION

m— n

System Sensors Check

Press "Function Check / Setting".

Press "System Sensors Check”.

UNE[QL:# A::]pw
gl Service Menu vo
— —
L% Failure Diagnosis C—
AUDIO Function Check/Setting APPS
A Service Information HOME
v Product Information W8
e | S—

=

N
SCROL

AUDIO

:

e —= jg]""
| Function CRECKISEIINGN Next Page || Back |

Panel&Steering Switch Vehicle Signal

o

»1

Touch Switch

APPS

Microphone check

HF voice quality setting

HOME

System Sensors Check

=

Cx]
\O

[&

s> o[

Check that;

e GPS Status is “OK (3D)". If not,
check the installation of the GPS
Antenna, including the connection
of connector 9 of the Head Unit
Schematic Diagram.

e SPD Pulse Count is more than 0
Pulses. If not, check the
connection of connectors 3 and 7
of the Head Unit Schematic
Diagram.

C-HR | Dec 16 Onwards

i

SCROLL

[e)

AUDIO

A
v
b

f

(<]

.

UNE[ o [‘ ——

Jo ™

.System Sensors Check

‘

10

GPS  Reception number
Staus

Measurement ratio
Position
SPD  Pulse count
Speed

[Sensor Signal Gyro voltage
0 point voltage
Relative bearing

DEEEEEOO @
COK(3DLD o
D pis) NG

Date (GMT: DD/MM/YYYY) 02/09/201X / 08:20:21

Latt

P!
2 kmh

Back |

Long

Vo

APPS

HOME

i

Cx)
\O

»

Issue: 2.0 | Date: July 2018 | Page 9 of 10




5. SYSTEM CHECK - C-HR SATELLITE NAVIGATION

‘!!D_

After all system checks have been
checked and rectified, press and hold
POWER button until the Head Unit
restarts.

GPS  Reception number IEEEEEEEEOO @
=]

@ Status OK(3D) a
Y0 Measurement ratio 3D 2D NG =
Date (GMT: DD/MMIYYYY) 02/09/201X / 08:20:21
AUDIO Position Latt Long APPS
P SPD  Pulse count 120 Pulse HOME
Speed 1 mph
2  kmh
v : o
fSensor Signal Gyro voltage

r 0 point voltage
’n? Relative bearing 0

Step 8.

End of Head Unit installation.

NE[ = — === —=1g ]Pw
AU\;O AP_PS
A HOME
~) TOYOTA C=

C-HR | Dec '16 Onwards Issue: 2.0 | Date: July 2018 | Page 10 of 10



